HEEE s 14,24 20034 6 H 16 H
53. OO n WEREE RO X, (2720, a,bITEE, )

1)

2+ 3+ 2

54. WOBNERFROEEN G d*y/de? % RD X,

1 1
(1) x:a(t—i-g),y:a(t—z) (2) z=acost, y=bsint
- d"y no nm _
55. y =arctanz {ZXIL | y = (n—1)!cos ysm(ny+7) (n=1,2,...) Z/R"¥E,
./I/-n

56. 1y =arctanz D& &, WRERE,
(1) (1422 " (2) 4+ 2naf™(z) + n(n — 1) f"D(z) =0
2) fe™0) =0, fem(z) = (-1)"2m)! (1) ZHNTET, )

57. Hy(@) = (1) () IS L Bl R,

dzm

(1) Hnsi(z) = 2Hn(2) — nHpo (2)

(2) e®cosx (3) sin®x (4) 2" 'logx (5) a"lel/®

(ZHED . Hoy(x) B nREEXTH B L35, % Hermite LHA L LS, )

(2) Hyp(z) =nHy ()
(3) HJ(z) —zH](x)+ nH,(z) =0 (Hermite D53 ifE\)

58. f(z) I3y ieE 35, 2ol &, HEK f(z) =00 & 5 2MFORICIT iR
fl(@) = 01X ERA A2 L H 19657 L% Rolle DFERLE Y RH,

59. PLFoOic&z X,
(1) (m,n) FIT7H A TR R R™ 7213 R OEGR 7 MAVERTH D Z & ERE,

(a) Im(A) ={Ax|z € R"} (AD) (b) Ker(A)={xeR"|Ax =0} (A DH%)

(2) (m,n) FEATHAD n aDHER T MV OHD 1 RIMSL72TEOEE % rank A TR,
TDEx N (a) dlmIm(A) = rank A’ (b) dim Ker(A) —n —rank A %/j—_\‘_,d:_o

2 3 -1 3 2
e 3 —1 4 8 3 -
@ rrommzmw = {71 | bwe={] o | | 1| [i]} e,
0 5 -5 -1 5

d1m(W1 N WQ), d1m(W1 + WQ) %*&b J:o
1



